Z:\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41479 LEGACY SERIES\C - Drawings\FL-41479 (2020)\FL-41479.9.dwg

203 Humble Ave.

STEVES

San Antonio, TX 78225

STEVES AND SONS

DIRECT GLAZED FIBERGLASS DOOR

SINGLE
w/ or w/out SIDELITE

INSWING/OUTSWING
"NON-IMPACT"

GENERAL NOTES

1. This product has been evaluated and is in compliance with the 7th Edition (2020) Florida Building
Code (FBC) structural requirements excluding the "High Velocity Hurricane Zone" (HVHZ).

2. Product anchors shall be as listed and spaced as shown on details. Anchor embedment to base
material shall be beyond wall dressing or stucco.

3. When used in areas requiring wind borne debris protection this product is required to be protected
with an impact resistant covering that complies with FBC Sections 1609.1.2 & R301.2.1.2 of the FBC.

4. For 2x stud framing construction, anchoring of these units shall be the same as that shown for 2x
buck masonry construction.

5. Site conditions that deviate from the details of this drawing require further engineering analysis by
a licensed engineer or registered architect.

TABLE OF CONTENTS
SHEET # | DESCRIPTION SHEET #
1 Typical Elevations, Design Pressures & General Notes 7 Horizontal & Vertical Cross Sections (1X Buck)
2 Door Panel Details 8 Horizontal & Vertical Cross Sections (Direct to Masonry)
3 Sidelite Panel & Pet Door Details 9 Vertical Cross Sections
4 Panel Options 10 Buck Anchoring
5 Elevations 11 Frame Anchoring & Hardware Details
6 Horizontal & Vertical Cross Sections (2X Buck) 12 Bill of Materials & Components

WM K
X X X X
[ ] [ ] [ ]
//[’ ®) ;/ (] :// // ®
‘ .
= H — \
2/3 LITE 2/3 LITE 2/3 LITE 2/3 LITE &
w/ CAT DOOR w/ MEDIUM w/ XL w/ SUPER LARGE \J
PET DOOR PET DOOR PET DOOR
74.75" MAX. 37.5" MAX.
OVERALL FRAME —={ OVERALL FRAME |=—
WIDTH WIDTH
. § < <
< sy N
o2 05 O X
5 32
06 =% , X ,
hE ko / /
L 8w
< =
& < ,
‘E PETDOOR V4 PET DOOR
CONTINUOUS HEAD & SILL |DEP}PET PRODUCTS
(w/ CENTER HINGE) IDEAL PET AIRSEAL PET DOOR

_CONFIGURATION |  FRAA

37.5" x 81.5"

OX, XO

74.75" x 81.5"

(AN NN
* LK }

June 7, 2022

P.O. Box 230, Valrico, FL 33595

BUILDING CONSULTANTS, INC.
Phone No.:

W

Lyndon F. Schmidt
P.E. No. 43409

R

813.659.9197

FBPE Registry No. 9813

STEVES & SONS
FIBERGLASS DOOR
PART OR ASSEMBLY:

PRODUCT:

TYPICAL ELEVATION, DESIGN
PRESSURES & GENERAL NOTES

BY

NOJ DATE

REVISIONS

DATE: 4/20/22

SCALE:  N.T.S.

DWG. BY: RW

CHK. BY: LFS

DRAWING NO.:
FL-41479.9

SHEET _1 oF 12

© 2022 R.W. BUILDING CONSULTANTS INC.



ZA\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41479 LEGACY SERIES\C - Drawings\FL-41479 (2020)\FL-41479.9.dwg

W /
24" — - 1.2 2.4' & W,
0.5“ — - @@ — O 5!: S &.t". './0 /’ 0
= S8 B 2
=+ | S5y, b
i PRARE Gl [ COMPOSITE S :._;0:_% S
2 ST 0 5 T A R GOSE gz
C ba Ba JU N P'. . % . -"@Q\\ < .(_é % @
.5 8 I / \ \ P i > Hoo [
N D> a7
3\\\\\ 25 2 >
LATCHSTILE  COMPOSITE v 6mRYE
CAP (VL) /1" HORIZONTAL CROSS SECTION 19.75'LONG vy CAP TOP RAL % o553
2/ (vt R :Es 599,
o 1A ¢ 83 :5‘ o én
12 AR I 22 RoED
GLASS BITE AT, S §
T ~je cz
INTERIOR I"OA. THICK GLASS FIBERGLASS SKIN —[FFp “+"*" g £
e 28 5 &
1/8" TEMPERED GLASS v
— 151
] /3
GLAIING — 2 % -
COMPOUNI)< I N | T ARSPACE PRI 9
35.75" MAX. DOOR 35.75" MAX. DOOR ) A %
- WIDTH Bl WIDTH | 1/8 TEMPERED GLASS TR = §§ E
EXTERIOR o X
21" MAX. D.L.O. 21" MAX. D.LO. B 83 |5 8°
pED WX D . ALUMINUM SPACER Q » ~2 |3 8
GLAZING DETAIL 9o lm =
4 q Gl g% ol =T
ha | =
= (g PV
V. # =
, GLASS BITE & Z
Vi " NTERIOR —— 1"OA. THICK GLAss ~ EXTERIOR INTERIOR o o
/ - —— A\
'z i 7 1/8" TEMPERED GLASS A 5
W v g %5 m >3] " | BLIND INSERT
z =3\2/ X 2 b GLAING <% . ,
o © | Bo S COMPOUND AR SPACE — ~
z 5 9§ | 1/8" TEMPERED GLASS
O e gt < S (/')
L X € - ) " EXTERIOR FOAM SPACER A 5
< 39 1) Vi - W/ ALUM INSERT R %)
2 Z -} ’ 1 GLAZING DETAIL N >
= G2 N
z ] W/ MICROBLINDS 3\ ~
& il —A—
SEE HARDWARE TABLE ~ LR _
, (LATCH & DEADBOLT) i N g
V4 PET DOOR ! FOAM CORE — Iy . % ~ & 0
. 1o s (POLYURETHANE)  |I1" . = - n =¥
. L Pt
CWikser | VATCH:  SIGNATURE SERIES - = E
DEADBOLT:  SIGNATURE SERIES (980) BOTTOMRALL — &= ® 4 |z
, —h — REINFORCEMENT gl |3
: LVL g
< 2 > ( 2 ) SI(EEABGT%';’QRSS%E SCHLAGE | peapsolr:  BsoN v DATE 4/20/22 |z
- SCALE:  N.T.S. 2
ROCKWELL | LATCH: PREMIUM HANDLESET BOTIOM RAIL— 11 owe. 8. RW | B
240\ FIBERGLASS DOOR PANEL 40\ FIBERGLASS DOOR PANEL DEADBOLT:  PREMIUM DEADBOLT (COMP. = I
Full Lite 2/3 Lite - «
I (2\vernca cross secrion s
FIBERGLASS DOOR SKIN: MIN. 0.08" THK. MULTIPOINT LOCK 2/ FL-41479.9 |3
CORE MATERIAL: POLYURETHANE FOAM SHEET 2 oF 12 g




Z\Clients\Steves and Sons - Perrﬁanent\A - Florida Product Approvais\FL-41479 LEGACY SERIES\C - Drawings\FL-41479 (2020)\FL-41479.9.dwg

24" — 12" 2.4'
05" ——| |=— @@ — =05
t ‘p : sb \ / l 44 .- s . :,.‘ :
S BT S F ¥ SR 1 S
‘ sb" -KM- I \ ‘ {Adz’. | P‘..
HINGE STILE LOCKBLOCK ~ LATCHSTLE  COMPOSITE
COMFOSTE vy /1" HORIZONTAL CROSS SECTION 19.75'LONG vy CAP
\3/ (LVL)
35.75" MAX. DOOR
WIDTH
21" MAX. D.LO. 18" FRAME
WIDTH 1" DOOR
4 WIDTH l BITE
ERIOR
| H#10X2'PPH SMS EATERIOR
I ° (6 TOTAL) DOOR
/ w PANEL
Vi 2
/ =0
710 =g o PET DOOR |° INTERIOR
P
25 \3/ )
= = ‘
5 b S X e = #10 X 2" PPH SMS
o =0
L 93 IDEAL PET AIRSEAL PET DOOR DETAIL p1).PET DOOR PANEL INSERT DETAIL
Z {SUPER LARGE PET DOOR SHOWN] PVC
S /
3 7 ——1.63" *l
o } ]
R = I 1 %
= in ! S
P ] |
i 7= :
PET DOOR ! ?
PET DOOR FRAME
3C PVC

S,

‘ @ FIBERGLASS SIDELITE PANEL

FIBERGLASS SKIN: MIN. 0.08" THK.
CORE MATERIAL: POLYURETHANE FOAM

PET DOOR w/ FRAME
(18" X 24" MAX.)

NOTE: INSTALLATION OF PET DOOR SHALL FOLLOW

MANUFACTURER'S INSTALLATION INSTRUCTIONS,
INCLUDING SECURING PET DOOR AS SPECIFIED
DURING HIGH WIND EVENTS.

COMPOSITE
CAP

TOP RAIL

(LVL)

INTERIOR

1.2

FIBERGLASS SKIN — [y *+ "%,
LB R
.! '..”»' ) '
¥/
17
A
.‘ - v i q N
S e =,
~J |
#
EXTERIOR
A
A\Y
ey [~
‘4 Z
FOAM CORE — [ =y -
(POLYURETHANE) \
L4 \,.l
BOTTOM RALL 1=
REINFORCEMENT
(L)
BOTTOM RAIL— L
(COMP.)

0.85"

/ 2"\ VERTICAL CROSS SECTION

3/

June 7, 2022
Documents Prepared By:«,\Jy ",

ZORIOR
NAL ©

Hipppnsy

O

/[

S

1

7,
N
7,
BUILDING CONSULTANTS, INC.

7
P.0. Box 230, Valrico, FL.L 33595
Phone No.:

Lyndon F. Schmidt
P.E. No. 43409

Ry

813.658.9197

FBPE Registry No. 89813

SIDELITE PANEL &
PET DOOR DETAILS

STEVES & SONS
FIBERGLASS DOOR
PART OR ASSEMBLY:

PRODUCT:

NOJ DATE

REVISIONS

DATE: 4,/20/22

SCALE:  N.T.S.

DWG. BY: RW

CHK. BY: LFS

DRAWING NO.:
FL~-41479.9

SHEET 3 oF 12

© 2022 R.W. BUILDING CONSULTANTS INDC.



CON| SANVYLINSNOD 9aNIGTHNg "M'Y 2202 @

£186 'ON Ansibey Idgdd SNOISIATY i
LBLB'BG9°CLY "ON 8uoyd A8 31va [ONf«| . nl 2|
GESES 14 ‘OOUIDA ‘OSZ XO8 O g \Su SNOLLJO T3Nvd 31113aiS/¥00a QaE|E @ _m_
07____ ‘SINVLINSNOD ONIgling @. TKIENISSY ¥0 Luvd S s ¥ _
///4;@ J(ZO\.M\.Q\\ 60¥EH ON 'I'd 4000 mmﬁmmmmt MR EER .
O DT TRl Y PSS 4 UopuAq SNOS # S3IAIL & m sIvET|E
2 GOWO0 %y &\\\ : - £ £1x2 2
N . ‘1onaoYd Bl1EIS|E |3
s TT0T ‘L sunf
m
(1R
wd
A A
m w
L3
—
o2 Q
=0 <
N e ..MI u
~ [~ a]
> o)
oz
m
w o
~x
RS o R
ol
X = M
| ¥ o
o
Ly
L |
T
2
o
B3I
snad [+ "4 o
o w0
B
s N D W
v o
/
2
o <
. e Q O
X0 [
©38 Q
~ nNE
B o
o ]
e
o
=
S _ =
530 0
m =0
oo ~
E 2
ol
o
3
~ W
A =
1| sz
L«
N o~ O
/
3

BMP'E'6.L7L7-14\0202) 6.1 Ly-T4\sBUMBIQ - D\STIYIS ADVDTT 6.7 LY-T4\s|eroiddy 19npoid BpUOd - Y\luBUBWSd - SUOS pue SaARIS\SIUBIDNZ



CANE SUNYLTIASNOD 9NIaTINg "My 2202 @

£186 ‘OoN Ansibey Idgd SNOISIAGY

LBL6'6S9'TLE "ON 8UuO i
SESCE 14 ‘OSUIPA ‘0S£Z uom .%m § SNOLLYAT13 2 A7G JON Slulz|e o 42,_
“ONI ‘SINVLINSNOD ONIgTIng @v X1aN3ssY 90 1uvd NI
//$$__<_::s\\ ﬂ Z g3 5_

O i RN I E e clale(efe ]

D ..W/ YOOy XY 7, WIS 4 uopuk) i m slelE | B
>~ N e Wn.:Ag peipdeld sjuewnoog +10NA0dd 3|5 2 5 m &

et
\\\\ X

\

Y
Lemettte.,,

60vEY 'ON

1

-.. .oc .l,

< Jonao, w.) //z//

\ E2X) »

%, 7 ) :I om f////
TN

[
ELEVATION
OX/XO
(CENTER HINGED)

5
7
O
/
PET DOOR
(4
g/

/3
\9_/
ELEVATION
X

PETDOOR

BMP66.1y-14\0202) 627Ly-T4\sBUIMEIQ - D\SINIS ADVD3T 6Lt L-14\s[er0iddy 1nPoid EPLOI - Y\UBUEULIS - SUOS PUE SAABIS\SIUDIID\Z



ZA\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41479 LEGACY SERIES\C - Drawings\FL-41479 (2020)\FL-41479.9.dwg

o _ 0.15'CSINK
(TYP)

_®

INTERIOR

g
SN

(&

_1-1/4"MIN.
EMB. (TYP.)

/4
//

xdédé %D
I CRgi

-I_] /4u M‘N. m
EMB. (TYP.) @
/1 "\ HORIZONTAL CROSS SECTION
& / Shownw/ 2XBuck
Outswing shown {Inswing similar)
NOTES:
1. Sidelite assembily screws located 4" from each
end plus 4 more equally spaced dlong jamb (6 total).
2. Moulding secured w/ 16 GA. X 1" brad nails
located 1" from ends & 6" 0.c. max.
3. Anchor @ head is not required for single door {X} only.
SEENOITE 1
;D INTERIOR
‘ ..........
/t
SEE NOTE 2 EXTERIOR
(TYP.)

7”6 \ HORIZONTAL CROSS SECTION
w Outswing shown {inswing similar)

/"2 "\ HORIZONTAL CROSS SECTION

& / Shownw/ 2X Buck
Qutswing shown (Inswing similar)

SEENOITE 1
INTERIOR

I/

EXTERIOR

~ 4 SEE NOTE 2
N 0 (TYP.)
7”3\ HORIZONTAL CROSS SECTION

6 /Shownw/2XBuck
Outswing shown {inswing similar)

1-1/4" MIN.
EMB. (TYP.)

b
EXTERIOR INTERIOR _"3
A\ e
/ 4"\ VERTICAL CROSS SECTION
Shown w/ 2X Buck

Outswing shown {Inswing similar)

EXTERIOR INTERIOR
A\
/"5 \ VERTICAL CROSS SECTION
Shown w/ 2X Buck

Outswing shown {Inswing similar)

June 7, 2022

P.O. Box 230, Valrico, FL 33595
813.659.9197

BUILDING CONSULTANTS, INC.
Phone No.:

Lyndon F. Schmidt
P.E. No. 43409

Ry

FBPE Registry No. 9813

STEVES & SONS
FIBERGLASS DOOR

PART OR ASSEMBLY:
HORIZONTAL & VERTICAL
CROSS SECTIONS (2X BUCK)

PRODUCT:

BY

REVISIONS

NOJ DATE

DATE: 4,/20/22

SCALE:  N.T.S.

DWG. BY: RW

CHK. BY: LFS

DRAWING NO.:
FL—~41479.9

SHEET _6 oF 12

@ 2022 R.W. BUILDING DONSULTANTS INC.



Z:\Clients\Steves and Sons - Permanent\A - Florida Product Approvalis\FL-41479 LEGACY SERIES\C - Drawings\FL-41479 (2020)\FL-41479.9.dwg

ARARELERLG ALY

©) :

-

= H AT TIIEE R
T v

<

7

/"1 "\ HORIZONTAL CROSS SECTION

1-1/4" MIN, 0

EMB. (TYP.)

7 / Shownw/ 1X Buck ]
Outswing shown {inswing similar)

NOTES:
1. Sidelite assembly screws located 4" from each
end plus 4 more equally spaced along jamb (6 total).
2. Moulding secured w/ 16 GA. X 1" brad nails
located 1" from ends & &" 0.c. mox.
3. Anchor @ head is not required for single door (X} only.

INTERIOR

EXTERIOR

1-1/4" MIN.
EMB. (TYP.)

1-1/4" MIN.
EMB. (TYP.)

72"\ HORIZONTAL CROSS SECTION

7 / Shownw/ 1XBuck .
Qutswing shown {Inswing similar)

INTERIOR

7

SEENOTE 2
(TYP.)

N -——~—~
e

m HORIZONTAL CROSS SECTION

7 /Shownw/ 1X Buck
Outswing shown (Inswing similar)

SEENOTE 3

813.659.9197

P.O. Box 230, Valrico, FL 33595

BUILDING CONSULTANTS, INC.
Phone No.:

1-1/4" MIN.
EMB. (TYP.)

?..
June 7, 2022

Documents Prepared By:

Lyndon F. Schmidt
P.E. No. 43409

Ry

FBPE Registry No. 9813

EXTERIOR INTERIOR

A\

/~4 "\ VERTICAL CROSS SECTION

7 / Shownw/ 1XBuck
Outswing shown {Inswing similar)

12
FIBERGLASS DOOR
PART OR ASSEMBLY:
HORIZONTAL & VERTICAL
CROSS SECTIONS (1X BUCK)

PRODUCT:

BY

1-1/4" MIN
EMSB. (TYP.)
REVISIONS

/\®

INTERIOR

EXTERIOR

A\

NOJ DATE

/5 "\ VERTICAL CROSS SECTION
\yShowr! w/ 1XBuck
Outswing shown ({Inswing similar)

DATE: 4/20/22
SCALE:  N.T.S.
DWG. BY: RW

LFS

CHK. BY:
DRAWING NO.:

FL—41479.9

SHEET 7 oF 12

© 2022 R.W. BUILDING CONSULTANTS INC.



Z:\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41479 LEGACY SERIES\C - Drawings\FL-41479 (2020)\FL-41479.9.dwg

INTERIOR
N
% ; EXTERIOR
1-1/4" MIN.
1-1/4" MIN, EMB. (1YP)
EMB. (TYP.)
/"1 "\ HORIZONTAL CROSS SECTION /~2 "\ HORIZONTAL CROSS SECTION

8 / Shown Direct to Masonry

Outswing shown {Inswing similar)

NOTES:
1. Sidelite assembly screws located 4" from each
end plus 4 more equally spaced along jomb (6 fotfal).
2. Moulding secured w/ 16 GA. X 1" brad nails
jocated 1" from ends & 4" 0.c. max.
3. Anchor @ head is not required for single door (X} only.

Shown Direct fo Masonry
Qutswing shown (Inswing similar)

INTERIOR

\:;.; B /X EXTERIOR
\/\
14 MIN, SEE NOTE 2 @

EMB. (TYP) T (TYP.)

7”3\ HORIZONTAL CROSS SECTION
\3/ Shown Direct to Masonry

Outswing shown (Inswing similar)

/4

SEENOTE 3

1-1/4" MIN.
EMB. (TYP.)

v .
/ t‘_‘.v
S .
T e -

o [

EXTERIOR INTERIOR
A\

/ 4\ VERTICAL CROSS SECTION

8 / Shown Direct to Masonry
Outswing shown (Inswing similar)

1-1/4" MIN.
EMB. (TYP.)

EXTERIOR )(/ INTERIOR

A\Y

/"5 "\ VERTICAL CROSS SECTION

8 /Shown Direct to Masonry
Outswing shown {Inswing similar)

P.0. Box 230, Valrico, FL 33595

BUILDING CONSULTANTS,
Phone No.:

Lyndon F. Schmidt
P.E. No. 43409

June 7, 2022

813.658.9197

FBPE Registry No. 9813

R

RECT TO MASONRY)

12
FIBERGLASS DOOR
PART OR ASSEMBLY:

HORIZONTA

& VERTICAL CROS

PRODUCT:

SECTIONS

(Lot

BY

REVISIONS

NOJ DATE

DATE: 4/20/22

SCALE:  N.T.S.

DWG. BY: RW

CHK. BY: LFS

DRAWING NO.:
FL-41479.9

SHEET _ 8 oF 13

© 2022 R.W. BUILDING CONSULTANTS INC.



TONG SINVLINSNGD aNiging "m'y" 2202 @

ML RN ™
+ +¥

/ 2"\ VERTICAL CROSS SECTION

w Qutswing Threshold

/1" VERTICAL CROSS SECTION

\9/ Inswing Threshold

X =
3 60VEY "ON >
“\ .»cn .to l”l
%, 3ot A, &
\\\\,\Q\Q.c.:... ////
\\\ Ium ///
I
274
o
o7
E*
Z
-
o
@]
o
s
('dAL) "gw3
NIW.#/1-1
o)
3 &
° >
t\vW iR
o
O
©
Q@
2 <
S
o)
o
=) o
o3 o)
[0} =
5 &
N O
= ("dAL) ‘awa
®© "NIW.F/ -1
O
X
o 2
8=
Zile—

EXTERIOR

€186 ‘ON Ansibey Idgd SNOISIAZY
L6L6°6S9°CLE "ON euoud SNOILI3S g 31v4 [ON o |
GEEE oo acy XoE o \§ SSOMD TWIILM3A Nulzle] o]
_HV_J__ ...mkzﬁ.szoo oNIaTING g XTGN3SSY 90 Lavd =% %8
O WNO L, o o 4004 SSVI9M3Al4 NI
azﬂ&xwwa oﬁof@e Y, piues - topudt SNOS % S3AILS MNP :
ll& . ‘s, VA7 :4q peiodesq sjuewnsoq +LoNA0dd M M m W W &

= 7207 °L dunf

INTERIOR

\\

A

®

EXTERIOR

\\

INTERIOR

/"8 VERTICAL CROSS SECTION

W Outswing Threshold

{"dAL) "aw3
NIW &/ 1L

7”3\ VERTICAL CROSS SECTION

W Inswing Threshold

('dAL) a3
NIW ./ 1-1

BMp 6671 7-14\0202) 6111~ TH\sBumeIq - D\SIIYAS ADYOI1 671 p-T4\s|eroddy 1onpoid epLold - Y\IUBUBUWIRY - SUOS PUB SBARIS\SIUBIIDVZ



CONL SANVLINSNOD 9aNIaning

‘MY 2202 O

e

(TYP.) \

2X BUCK

/

MASONRY (TYP.)

L6 e asosin on suot SNOISIATY .
Sssec 14 ‘ovuion oz 08 0[] ONIHOHINY X0Nd A8 V4 NN slzlo] 2|
"ONI ‘SINVLINSNOD ONIaTING @ IEN3SSY 90 Lavd SIEIEIEL S s
N2 $=lo
60vEy “ON ‘T 5000 SSY1943814 NERAIE
IPIUYDS "o UOPUAT SNOS % S3AdIS g M sl S gl
. D\\:nm poipdeld sjuswinoog $10NA0oHd 518 W 5 W M
: ¢20T ‘L dung
(dAL) "XvW
— ja% "0'0.91
iIn 1 ] t I 1
=
P
= %
8B W ¢
< 1 r O
rhE S
“ X
..1 Y A — 'y 4‘.
et o .
T (o) m N
;- g £
* T o7
R [ _ | | 7 O
CEE T O =
— 4.-. I ..q. 4..4...“., K } .....-At .Q. » .-. R
s 0O
“ & m
O
P-4
<
A4
O
-
Q
- (dAL) XYW >
0091 o™
1 t 1
S o
ol [ X—
S T
x .

BMp'6'6.1L-14\0202) 6L7LE-T4\sBUIMEIQ - D\STIYES ADVOT1 647 L¥-14\s[er0iddy 1oNPOId BPLIO}S - Y\JUSUBWIR - SUOS PUB SBASIS\SIUBIDNZ



Z:\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41479 LEGACY SERIES\C - Drawings\FL-41479 (2020)\FL-41479.9.dwg

FRAME CORNERS ATTACHED w/ (3] 7/16"
CROWN X 1-1/2" LONG 16 GA. STAPLES & (2)
#7 X 1-5/8" DRYWALL SCREWS @ HEAD & SILL

% 3.5"X 4" 20 GA. STEEL PLATE ATIACHED TO

BACK OF LOCK JAMB w/ {4} 1" CROWN X

(P 5/8"LONG 16 GA. STAPLES
6"
mm"ﬂ |
e ’T——— 3] ] [ T 1
) — | SEEHINGE 1 t
! T B omau & 0 5
= o (TYP.) 2w s¥
2x BUCK S s sy z=
- ~ E o< 2= & § &
‘,mwa o) i - kel
DIRECTTO & o % h 5O & S
- MASONRY o] — = AN 3 l *
| JamsBS I = mi'_i
(TYP)) TBE Pg
_ o N
. Q. - Py
- ~| Q& SE
23 ?
FRAME ~3 SEE LATCH &
(TYP.) ™= LB DEADBOLT STRIKE SEE MULTIPOINT LOCK
- - DETAIL STRIKE PLATE DETAIL
i ] (TYP.) (TYP.)
._>_( HINGE JAMB/MULLION STRIKE JAMB STRIKE JAMB
JAMB INTEGRAL MULLION ATTACHED TO LATCH & DEADBOLT MULTIPOINT LOCK ‘
4" (TYP.) HEAD & SILL w/ {3} #9 X 2-1/2" \
6" (TYP.) —=] - (TYL ) 4T DRYWALL SCREWS (TYP.) @
1 . . \
‘ *1 § DIRECT TO ’{4 @
| T 1 0 DIRECT TO MASONRY 2X BUCK @ :
’ - ) O\ ?QA:&T(RY IXBUCK @ ﬁ @ 1X BUCK NN
= 2X BUCK @ DIRECT TO 0 )
(L )2xBuck I eE e 2X BUCK/MULLION \ MASONRY \‘ (12)
1X BUCK | o ROCKWELL MULTIPOINT LOCK HARDWARE
== [l *
DIRECTTO o Hlo \\\\<ii> ROCKWELL HARDWARE
— MASONRY — — . @
I HEAD & JAMBS \ DIRECT TO ‘E‘:.V
(YP) HINGE DETAIL MASONRY 20 “TOP PLATE
- —{— INSWING 1XBUCK @ \ N
= 13
ourswme JE DIRECTTO 2XBUCK @ T @<
— —|| 9.2 MASONRY T
o INSWING ©Z W X BUCK | BACK PLATE
= \
o SIDELTE SILL 2X BUCK/MULLION ‘
(TYP.) . 1 (TYP.) _ :0:me". 2X BUCK (25 - 8 29X BUCK __ﬂﬂz
e [ e 1
XO. OX DIRECTTO DRECTTO |
; \ MASONRY ruasonry (M)
v KWIKSET HARDWARE SCHLAGE HARDWARE
HINGE DETAIL
FRAME ANCHORING AL HARDWARE DETAILS

I/,’
T,
ROXA 0
2z 8
-
-.w’ i
P AR
O.A=0M
g:(:g_ly\
& lbon
f:Osm - T
TS~ Egan
Q\ <-90)m
'Q\ }._hl.f) .
> JDbwo
N 3> az
D\\\\ o .0
N
& ON @
v O Oy
- T ngm
°E zZ QR
g =0 o 4
a £0 b .CDJ
® 4y 5025
Q"% aadal
(=3 N
N-E' .
-5 CC)
SIE 6% §
@i5s v,
g13 gu
Sia 2
X (DCQ
z8 ==
SR Eh
0 gc:
)
s Ol
.,3% =S
n ol <<
Lo = =
an.: W W
£ |7 32
L O |9 ET
= ©
(&}
=1
S E
& x
>..
mn
")
z
O
1]
|
o
o
z
B
L
= |2
< ™
SN
A |2
[®]
=zl |8
DATE: 4/20/22 |2
scAE:  N.T.S. g
DWG. BY: RW 3
cHK. B::  LFS 3
DRAWING NO.: x
N
FL—41479.9 8
N
SHEET OF
11 12 o




ZA\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41479 LEGACY SERIES\C - Drawings\FL-41479 (2020)\FL-41479.9.dwg

BILL OF MATERIALS
ITEM # | DESCRIPTION MATERIAL
A 1XBUCK (G >=0.42) WOOD
B 2X BUCK (G >=0.42) WwOOD
C 1/4" MAX. SHIM SPACE -
D 1/4" X 2-3/4" PFH DeWALT OR [TW CONCRETE SCREW STEEL
E MASONRY - 3,000 PSI MIN. CONCRETE CONFORMING TO ACI CONCRETE
301 OR HOLLOW BLOCK CONFORMING TO ASTM C90
F 1/4" X 3-3/4" PFH DeWALT OR ITW CONCRETE SCREW STEEL
G 3/16" X 3-1/4" PFH ITW CONCRETE SCREW STEEL
L #10 X 2-1/2" PFH WOOD SCREW (1.15" MIN. EMB.) STEEL
M 3/16" X 2-1/4" PFH ITW CONCRETE SCREW STEEL
P 1/4" X 2-1/4" PFH DeWALT OR ITW CONCRETE SCREW STEEL
1 COMPQOSITE JAMB COMP
3 COMPOSITE MULLION COMP/LVL
7 WEATHERSTRIP FOAM
8 SWEEP VINYL
9 4" X 4" HINGE STEEL
11 #9 X 3/4" PFH WOOD SCREW STEEL
12 LATCH STRIKE PLATE STEEL
13 DEADBOLT STRIKE PLATE STEEL
14 INSWING THRESHOLD ALUM/COMP
15 OUTSWING THRESHOLD ALUM/COMP
17 INSWING SIDELITE ADAPTER PVC
18 #8 X 3" SD TRIM SCREW STEEL
20 #9 X 1/2" PFH WOOD SCREW STEEL
21 #12 X 2-1/2" PFH WOOD SCREW STEEL
23 #8 X 3/4" PFH WOOD SCREW STEEL
25 #8 X 2-1/2" PFH WOOD SCREW STEEL
27 #7 X 1-5/8" DRYWALL SCREW STEEL
34 MULTIPOINT LOCK STRIKE PLATE STEEL
40 DOOR PANEL -
50 SIDELITE PANEL -

1.25"

|

0.75"

4.56"

1

|— 213"

COMPOSITE JAMB

WORLDWIDE "4EVER"

5.62"

14 INSWING THRESHOLD

Columbia

17 INSWING SIDELITE SPACER
Columbia

e | . 5" pa——
0.5" | ot S
o
2'5" %
@ COMPOSITE MULLION
2.44" ‘ i
_ | 5
I o
7 -
.k
B 4.4" !T
15 QUTSWING THRESHOLD
Columbia
CONCRETE ANCHOR NOTES:

edge distance fo mortar joints.

. Concrete anchor locations at the comers may be adjusted to maintain the min.

. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to

maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.

. Concrete anchor table:

Siz

EMB

JACEN

: ‘-1/2" S |

......

~e.

‘e o
.......

June 7, 2022

P.O0. Box 230, Valrico, FL 33595

BUILDING CONSULTANTS, INC.
Phone No.:

Lyndon F. Schmidt
P.E. No. 43409

Ry

813.659.9197

FBPE Registry No. 8813

ALL SEASONS, INC
FIBERGLASS DOOR

PART OR ASSEMBLY:

PRODUCT:

BILL OF MATERIALS
& COMPONENTS

BY

NO{ DATE

REVISIONS

DATE: 4/20/22

wood screws to prevent the splitting of wood.

SCALE:
1/4" 1-1/8" rg N.T.S.
DeWALT 4 i . DWG. BY: RW
uiracon| V/ 1-1/4 1 4 k. 8 LFS
WOOD SCREW INSTALLATION NOTES: DRAWING NO.:
. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of FL—-41479.9

SHEET 12 oF 12

© 2022 R.W. BUILDING CONSULTANTS INC.





